T 2090 3 25% 2348 73299

= T i
AC~,0.67 B(2,~3 0y, CC30.0> [Ap 1= B 123 gc,c’gaé

Bor 254 230 B BC (=34(Q") 2 42
—_ — 7 73 33
(a'=3 G BC-Ca=6) 23 Q= (5 + o)

r

f i
i’ %3@\27‘:‘,C1'C(£ ”*“-(j E\E o)

2, 2

(F He KAy BLA 7154
fapoelst, < (palsy ANLS

. [J —_ ﬁ@ L' f"l
hp=&p HA=Ta ¢ L,

. 4 Fabe 2|
wg'e a4z B eadd FAN L

-~

LRl

Baop (fipoh) B2 UL BOy YAMets gt s7uas,

<\ ~< 2

/

BC=C1,yB.0) ~  A+3y roh=oA Rz

C =
TE3 ;:lfr;Jrcl;Oc»ﬂ/\-\ Ok:'-ﬁ”‘ o AL A3y ~9=0
— “—I”Cll o
BAsk #2045 Mok afa2s —— =5,
—s T R e e _
Y T T R MR A R

f—

LaA = | T5taE = 10

—

L af}p!‘f - )—’—)\ //




